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1. What is the difference between a binary tree and a binary search tree? Or is there any?

2. A descendant of a node is _____________________________________________________________________________
  

3. An ancestor of a node is ______________________________________________________________________________

4. The height(depth) of a tree is defined as (for our class, anyway) ______________________________________________

5. A full binary tree is _________________________________________________________________________________

6. A complete binary tree is _____________________________________________________________________________

7.  The level names of a tree with 3 levels are _______________,  _______________,  _______________

8.
What is the maximum number of levels that a binary search tree with 100 nodes can have?

9.  What is the maximum total number of nodes in a tree that has N levels?

10.  What is the minimum number of levels that a binary search tree with 100 nodes can have?

11.  What is the maximum number of nodes in the Nth level of a binary tree?

12.  How many ancestors does a node in the Nth level of a binary search tree have?

13.  How many different binary trees can be made from three nodes that contain the key values 1, 2, and 3? Draw them.

14.  How many different binary search trees can be made from three nodes that contain the key values 1, 2, and 3?
Draw Them.

Given the following order of data from an input file, build the resulting ordered binary tree:


54    32    21    88    3    99    17    77    82    29    44    66

Define the following terms and describe (or give name(s) of) examples from the above tree.


Parent -


Child -


Root node -


Leaf - 


Level -


Subtree -


Edge - 

Explain how the order of the incoming data affects the shape of a binary search tree.  Include in your explanation a discussion of the best and worst case scenario. Create an example for each (incoming data and its tree for best & worst cases). Each example should use 7 nodes.
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